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Vocabulary Review – Explain the relationship between the words in the pairs below.

1. concentration, concentration gradient - __________________________________________

___________________________________________________________________________

2. osmosis, diffusion - _________________________________________________________

___________________________________________________________________________
3. phagocytosis, endocytosis - __________________________________________________

___________________________________________________________________________
4. exocytosis, vesicle -  ________________________________________________________

___________________________________________________________________________
Multiple Choice – Write the letter of the correct answer in the blank.

_____ 1. When a human red blood cell is placed in a hypertonic environment it will

a. be at equilibrium.


c. undergo cytolysis.

b. shrink.




d. swell.

_____ 2. The contractile vacuole of a paramecium should be active when the paramecium is in 

a. an isotonic environment.

c. a hypotonic environment.

b. equilibrium.



d. a hypertonic environment.

_____ 3. ________ is a type of passive transport requiring the help of carrier proteins.

a. Osmosis



c. Active transport

b. Diffusion



d. Facilitated diffusion

_____ 4. Facilitated diffusion is often used to transport

a. ions.

c. molecules that are soluble in lipids.

b. water.

d. molecules that are too large to pass through the lipid bilayer.

_____ 5. Facilitated-diffusion carrier proteins and cell-membrane pumps both

a. require an input of energy.
c. transport substances up their concentration 
gradients.
b. are specific for the kinds of
d. carry out active transport.

substances they transport.

_____6. Pinocytosis involves the transport of

a. large particles out of a cell.
c. whole cells into another cell

b. fluids into a cell.


d. lysosomes out of a cell.

_____ 7. Exocytosis is a

a. type of passive transport.

b. mechanism by which cells ingest other cells.

c. transport process in which vesicles are formed from pouches in the cell membrane.

d. way for cells to release large molecules, such as proteins.

.
Short Answer – Answer the questions below in complete sentences.

1. How does the cell membrane help to maintain homeostasis?

2. Why do we describe diffusion, osmosis, and facilitated diffusion as “passive” transport processes?
3. Is diffusion an example of osmosis, or is osmosis an example of diffusion? Explain.

4. What happens to the movement of molecules across the membrane when equilibrium is reached?

5. Compare and contrast passive and active transport.  Give at least 1 similarity and 2 differences.

6.  What is the difference between endocytosis and exocytosis?

7. Explain how a protein made in the cell gets out of the cell.

8. Critical Thinking – The cell membrane regulate what enters and exits the cell.  Most materials can pass through by diffusion, without a problem.  The graph below shows the size of some molecules that need to move across the lipid bilayer.
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a. Which substance do you think will diffuse across the lipid bi-layer most quickly?  Why?

b. Which substance do you think will diffuse across the lipid bi-layer most slowly?  Why?

c. Formulate a hypothesis about the relationship between molecule size and diffusion.
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